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Should be a '2.'  Does not affect the work in any real way, because the square behaves the same as the quartic with regard to sign changes.







hmills1
Rectangle

hmills1
Rectangle

hmills1
Callout
-6/3 = -2, not +2
Thanks, Tanya!
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(2, 5) should be (-2, 5), and should be LEFT of the y-axis!!!
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Finally got the values and the position correct, but does not follow from the previous graph!
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Enough students missed this one, I did it "right" except for that one mistake, to help award partial credit to those who missed the placeholder.





